Problem:
max z = cbv xbv + cnbv xnbv
s.t

        B xbv + N xnbv = b

or

        xbv + B-1 N xnbv = B-1  b

Sensitivity Formulas:

	Original column for variable j:
	a j  

	Original Z coef.  for variable j:
	c j     

	Original rhs for constraints
	b

	m by m matrix with a column for each BV:
	B

	m by (n-m) matrix with a column for each NBV:
	N

	Optimal row 0:
RHS

Coef. of x j  
Coef. of slack variable s j  
Coef. of excess variable s j  
Coef. of artificial variable s j  


	cbv B-1 b
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j  =   cbv B-1 a j  -  c j

jth element of  cbv B-1
- jth element of  cbv B-1
jth element of  cbv B-1 + M

	Optimal table:
xj column 
rhs
	B-1 a j 
 B-1 b
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